[ Efficiency vs vertpos |

-
o
o
(]
>

[
>
>

Ratio

0.5
0.45
0.4

+
A
+

0.95

T O T [T TP T[T T [T TRI T [ TP T[T [T TTTT

1072 107 1

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO

— —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
Efficiend

N
=
[
>
%
>
>

o
e
Q

ettici

Ratio

0.5

—— DQM_V0001_R000000001__Global__mkFitNewTEST1000time__RECO

0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1

9535 —10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o
E
2]

Y
>

lency

2
=
[}

Ratio

0.5p—— : :
L Rt SCIITI SR SO
042_ .................................
S (CRTIOTE TTTRSE SPPRS SR
0.3F ----------------
0.25;— {*’-ﬁ#“"m‘**‘&#ﬁ
0.2 e b i
T S SO SO b T
o.é ------ R
005— -------- -------------------------
Y P A N |
I
10 S 0 B B 3 B o MY T S ) PR SPRPEPS

0 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


